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Calculate your drug costs under the House Republican prescription drug plan

(Total yearly drug costs)

(yearly = monthly costs x 12)

(Gap in coverage that
seniors must cover
themselves)

(Deductible)

(Copay)

(Yearly premium)

(YOUR TOTAL COSTS)

Enter your total yearly drug
costs on line ©.

Are your
total yearly drug costs
over $4,9007?

Are your
total yearly drug costs
between
$2,001 and $4,900?

Costs are less than
$2000. Enter 0 on line
on line @.

A4

If total yearly drug
costs are less than $250
enter 0 on line O, else
your yearly deductible
is $250. Enter $250 on
line ©.

A

Yes

Yes

Senior’s Gap. Enter
$2,900 for costs you
will have to cover
yourself on line @.

Calculate Senior’s
Gap: subtract $2,000
from your total yearly
drug costs. Enter
result on line @.

A4

A 4

Yearly deductible is
$250. Enter $250 on
line ©.

Yearly deductible is
$250. Enter $250 on
line ©.

Copay (Part One)
Subtract $250 from
$2,000. Enter result on

line @®.

Co-pay (Part One)
Subtract $250 from
total yearly drug costs
Enter result on line @,

Copay (Part Two)

Multiply line ® by 0.2
Enter result on line ©.

A

GOP estimates yearly
premium as $35/m =
$420/y. Enter $420 on
line @.

A

Add 8+0+0+0
Enter total on line @.
This is amount you
will have to pay under
GOP plan.

TIP: To
calculate
percentage of
costs you will
have to cover:

Divide line @
by line @ and
multiply the

result by 100.

NOTE: Seniors with
retirement income
greater than $60,000
will pay slightly more.
Seniors with retirement
income below $12,120
(135 percent poverty)
wouldn’t have to pay
the annual premium or
most of the copay..




